Ratio to SLD

91 GeV ee y*/Z (Hadronic)
_I T I T I | I I I T I T | T I T I_
35— Tt multiplicity (1¢, b-events) ]
m SLD _
— --d-- Herwig 7.0.4 default —
30 — —a— Pythia 8.170 default ]
- ¢ Sherpa 2.2.6 default |
. —-¥- Vincia 1.1.00_8.176 default _
25 — —]
20 — —]
‘.'_"_"_"_"_"_"_"_"_"_"_"_"_"f'_"_"_"_"_"_"_"_"_"_"_"f'_"_"_"_"_"_"_"_"_"_"_i'_';"_';"_"_"_"_"_';"_';"_';"_';"_"_"_"_"_';"_';"_';"_';"_"_"_"_"_';"_';'._
| s ]
15 — —]
10 — ]
1 | ' | | | | | | | | 1
- ' ' ! ' ' ' ' ! ' =
2 & -
1 _;'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":'_":i':::::';':';':';':';':';':';':';':';':';':';':'::';':';':';':';':';';:
0.5 _
L L L l L L L L l L L

Rivet 3.1.0, = 7.2M events
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